
 

 

 

 

  ∞ 

 

 𝑒𝑥 , ln 𝑥 , 𝑥4 et 𝑥
1

4 𝑒𝑥  

𝑥4 𝑥
1

4   ln 𝑥 

 

 𝑓 𝑥 =
𝑥100

𝑒𝑥

∞

∞

 𝑓  𝑥 =
 100−𝑥 𝑥99

𝑒𝑥

∞

 

 

 

 

 

 

∞ ∞

 |𝑓 𝑥 |  |𝑔 𝑥 |

∞ lim𝑥→∞
𝑓(𝑥)

𝑔(𝑥)
= 0

∞ .

 



 ≪ ≪

 

 ≪ ∞

 

 

 𝑙𝑛 𝑥 ≪ ∞

 

 lim𝑥→+∞ 𝑥𝑎 = 0

 lim𝑥→+∞
ln⁡(𝑥)

𝑥𝑎

 

𝑥
𝑎

2  𝑥
𝑎

2 𝑥
𝑎

2

𝑎

2
𝑙𝑛 𝑥 < 𝑥

𝑎

2

𝑙𝑛⁡(𝑥)

𝑥𝑎 <
2

𝑎
𝑥

−1

2

0 <
𝑙𝑛⁡(𝑥)

𝑥𝑎  limx→+∞   
2

𝑎
𝑥

−1

2  = 0

lim𝑥→+∞   
𝑙𝑛⁡(𝑥)

𝑥𝑎  = 0  ≪ 𝑥𝑎  au vois de +∞     ∎ 

 

∞ 𝑖 

 

 𝑙𝑛(𝑥)𝑏≪ 𝑥𝑎 ∞

 



 

 𝑥𝑎 ≪ 𝑒𝑥  au vois de +∞ 

 

 lim𝑥→+∞  
𝑥100

𝑒𝑥
= 0

 𝑥𝑎 ≪ 𝑒𝑏𝑥  au vois  de +∞ 

 

 

𝑙𝑛 𝑥 ≪ ≪ 𝑒𝑥 ∞  

𝑙𝑛(𝑥)𝑏≪ 𝑥𝑎 ≪ 𝑒𝑐𝑥 ∞

 

e𝑥   𝑥4 

 

 

limx→+∞  𝑥1 𝑥  lim𝑥→+∞  
𝑥 𝑙𝑛 ⁡(𝑥)

(𝑙𝑛 𝑥)𝑥

𝑥1 𝑥 = 𝑒
𝑙n 𝑥

𝑥 lim𝑥→+∞  
𝑙𝑛 𝑥

𝑥
= 0 𝑒𝑥

 lim𝑥→+∞  𝑥1 𝑥 = 𝑒0 

𝑥 𝑙𝑛 ⁡(𝑥)

(𝑙𝑛 𝑥)𝑥
∶     



 

𝑃(𝑥)

𝑄(𝑥)
 

𝑎0 + 𝑎1𝑥 + ⋯+ 𝑎𝑛𝑥
𝑛 𝑎𝑛 ≠ 0

𝑏0 + 𝑏1𝑥 + ⋯+ 𝑏𝑝𝑥
𝑝 𝑏𝑝 ≠ 0 ≠

𝑎0+𝑎1𝑥+⋯+𝑎𝑛𝑥
𝑛

𝑏0+𝑏1𝑥+⋯+𝑏𝑝𝑥
𝑝

=
𝑥𝑛  𝑎𝑛  +⋯+

𝑎1
𝑥𝑛−1+

𝑎0
𝑥𝑛

 

𝑥𝑝 𝑏𝑝  +⋯+
𝑏1

𝑥𝑝−1+
𝑏0
𝑥𝑝

 

  𝑙𝑖𝑚𝑥→+∞ 𝑎𝑛  + ⋯+ 𝑎1

𝑥𝑛−1 + 𝑎0

𝑥𝑛
 𝑎𝑛   𝑙𝑖𝑚𝑥→+∞ 𝑏𝑝  + ⋯+ 𝑏1

𝑥𝑝−1 + 𝑏0

𝑥𝑝
=  𝑏𝑝

lim𝑥→+∞ ln 𝑥 = lim𝑥→+∞ 
𝑥𝑛 𝑎𝑛 

𝑥𝑝 𝑏𝑝  

  lim
𝑥→+∞

 
𝑙𝑛⁡(𝑥)

𝑥𝑛−𝑝  =  lim
𝑥→+∞

 
 𝑎𝑛𝑥𝑛

𝑏𝑝𝑥𝑝𝑥𝑛−𝑝  
𝑎𝑛
𝑏𝑝

≠

lim𝑥→+∞ ln 𝑥 = +∞

lim
𝑥→+∞

 
𝑙𝑛⁡(𝑥)

𝑥𝑛−𝑝 = 0

 ∞

 𝑓 𝑥 =   𝑒
−1

𝑥2   , 𝑥 ≠ 0
0       , 𝑥 = 0

 

  ≠ 𝑓 𝑛  𝑥 = 𝐹𝑛 𝑥  𝑒
−1

𝑥2 𝐹𝑛 𝑥  

 ∞



 

 ≪ ≪ ∞

∞ ≤

∞ ≤

≤ ≪ 

 

 

 
𝑙𝑛⁡(𝑥)𝑏

𝑥𝑎
 
𝑙𝑛⁡(𝑥)

𝑥𝑎 𝑏 
 
𝑏

𝑎

𝑏
𝑙𝑖𝑚𝑥→+∞ 

𝑙𝑛⁡(𝑥)

𝑥𝑎 𝑏 = 0

𝑥𝑏

𝑙𝑖𝑚
𝑥→+∞  

𝑙𝑛  𝑥 𝑏

𝑥𝑎 = 0  𝑙𝑛⁡(𝑥)𝑏  ≪ 𝑥𝑎  

 

 
𝑥𝑎

𝑒𝑥
= 𝑒𝑎𝑙𝑛  𝑥 −𝑥 = 𝑒𝑥 𝑎

𝑙𝑛 ⁡𝑥

𝑥
−1 

𝑙𝑖𝑚
𝑥→+∞  

ln⁡(𝑥)

𝑥
= 0 𝑙𝑖𝑚

𝑥→+∞  

𝑥𝑎

𝑒𝑥
= 𝑙𝑖𝑚

𝑥→+∞  
𝑒−𝑥 = 0

𝑥𝑎

𝑒𝑏𝑥
= 𝑒𝑎𝑙𝑛  𝑥 −𝑏𝑥 = 𝑒𝑥 𝑎

𝑙𝑛 ⁡𝑥

𝑥
−𝑏 

 𝑙𝑖𝑚
𝑥→+∞  

𝑥𝑎

𝑒𝑏𝑥
= 𝑙𝑖𝑚

𝑥→+∞  
𝑒−𝑏𝑥 = 0  

 

  

 

 

: lim𝑥→+∞  
𝑥 ln  𝑥 

(𝑙𝑛 𝑥)𝑥
 

𝑥 ln 𝑥 

(𝑙𝑛 𝑥)𝑥
=  

𝑥 ln⁡(𝑥) 𝑥 

ln⁡(𝑥)
 

𝑥

= 𝑒𝑥 ln 𝑥 ln  𝑥 𝑥  −ln 𝑙𝑛  𝑥   = 𝑒𝑥 ln 𝑒 ln ²(𝑥) 𝑥  −ln 𝑙𝑛  𝑥   



𝑙𝑖𝑚
𝑥→+∞  

𝑙𝑛²(𝑥) 𝑥 = 0 𝑙𝑖𝑚
𝑥→+∞  

𝑒𝑙𝑛²(𝑥) 𝑥 = 1 𝑙𝑖𝑚
𝑥→+∞  

𝑙𝑛  𝑒𝑙𝑛²(𝑥) 𝑥  = 0

𝑙𝑖𝑚
𝑥→+∞  

ln 𝑙𝑛 𝑥  = +∞ 𝑙𝑖𝑚
𝑥→+∞ 

𝑥 ln 𝑒𝑙𝑛²(𝑥) 𝑥  − ln 𝑙𝑛 𝑥   = −∞

𝑙𝑖𝑚
𝑥→+∞  

𝑥 ln  𝑥 

(𝑙𝑛 𝑥)𝑥
= 0

𝟑. ∞

𝑓 𝑥 =   𝑒
−1

𝑥2   , 𝑥 ≠ 0
0       , 𝑥 = 0

 

  

 

l 
l 

  ≠ 𝑓 𝑛  𝑥 = 𝐹𝑛 𝑥  𝑒
−1

𝑥2 

𝐹𝑛 𝑥  

≠

 𝑓 0  𝑥 = 𝑓 𝑥 =  𝑒
−1

𝑥2 𝐹0 𝑥 = 1

 𝑓 𝑛  𝑥 = 𝐹𝑛 𝑥  𝑒
−1

𝑥2 

𝑓(𝑛)  

𝑓(𝑛+1) 𝑥 =   𝐹′
𝑛 𝑥 +

2

𝑥3 𝐹𝑛(𝑥)   𝑒
−1

𝑥2 

𝐹′
𝑛 𝑥 +

2

𝑥3 𝐹𝑛(𝑥)  

𝐹𝑛+1 𝑥 = 𝐹′
𝑛 𝑥 +

2

𝑥3 𝐹𝑛(𝑥) 

 𝑓 𝑛  𝑥 = 𝐹𝑛 𝑥  𝑒
−1

𝑥2 

lim𝑥→0 𝐹𝑛 𝑥  𝑒
−1

𝑥2 𝐹𝑛 0 × 0 = 0

𝑓(𝑛)

𝑓(𝑛)

𝑓(𝑛+1) 𝑥 =  𝐹𝑛+1 𝑥  𝑒
−1

𝑥2  𝐹𝑛+1 

lim𝑥→0 𝑓
(𝑛+1) 𝑥 = 𝐹𝑛+1 0 × 0 = 0

𝑓(𝑛) 𝑓(𝑛+1) 0 = 0

 ∞


